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Q.1if X ={1,4,7,9} and

Y= {2,4,5,9} then find:
Solution:
(i) X Y

XY ={1,4,7,9}U{2,4,5,9}
={1,2,4,5,7,9}

(i) X NY

XY ={1,4,7,9}n{2,4,5,9}
={4,9}

(i) Y U X

YUX ={2,4,59}U{1,4,7,9}
={1,2,4,5,7,9}

(iv) Y X

YN X ={2,459n{1,4,7,9}
={4,9}

={1,2,3,4,5,6,7,8,9,10,11,12,17}

(i) YUX

Yux ={1,2,3,4,..,12} U{2,3,5,7,11,13,17}
={1,2,3,4,5,6,7,8,9,10,11,12,17}

(i) X NY

XY ={2,3,571113,17}n{1,2,3,4,...,12}
={2,3,5,7,11}

(iv) Y X

YnX ={1,2,3,4,..,12} n{2,3,5,7,11,13,17}
={2,3,5,7,11}

Q.2 If X= Set of Prime numbers less than or
equal to 17.

Y= Set of first 12 natural numbers, then find

Solution:

X ={2,3,5,7,11,13,17}
Y ={1,2,3,4,...,12}

(i) X Uy

X UY ={2,3,5,7,11,13,17} U{1,2,3,4,...,12}

Q3lfX=¢ Y=Z" T=0" thenfind
(i) XuY
X=¢ Y={0123..}

(i) X UT

X=¢ T={35..]}
XuT=¢uU{l35..}
XuT={1,35..}

(i) Y UT

Y ={0,1,2,3.....} T={1,3,57..}
YuT ={0,1,2,3...} u{L,3,5,7....}
YUT ={0,1,2,3,4,5.....}

vy X nNnY
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X=¢ T={,357..}
XnT={}n{,35,7..}

XmT={ } or ¢

Vi) YT

YNT=2Z"nO*

YT ={1,2,3,45,..}n{1,3,57..}
YT ={1,3,5,7...}

Qa1fU={x|xe N 3<x<25}
X ={x| xis Prime "8<x < 25}
Y={x|xeWr4<x<17}

then find the value of:

Solution: U ={4,5,6,7,...,25}

X ={11,13,17,19,23}

Y ={4,5,6,7,...,17}
(i) (X vY)
Xy ={11,13,17,19,23} U{4,5,6,7,...,17}
=1{4,5,6,7,8,9,10,11,12,13,14,15,16,17,19, 23}
(XuY)=U-(XVvY)
={4,5.6.7,..,25] ~{4,5,6.7.8,9,10,11,12,13,14,15,16,17,19,23)
={18,20,21,22,24,25}

(i) X "Y'
X'=U-X

X'={4,5,6,7,..,25} -{11,13,17,19,23}
={4,5,,...10,12,14,15,16,18,20,21,22,24, 25}

Y'=U-Y

Y'={4,5,6,7,..,25} —{4,5,6,7,...,17}
={18,19,20,21,22,23,24,25}

X'NY'={4,5,6,7,8,9............17,19,23} N {18,19,20,21,22,23,24,25}

XNY'= {18, 20,21,22,24, 25}
(iii) (X NY)'

(X NY)={11,13,17,19,23} n{4,5,6,7,...,17}

={11,13,17}
(XNY)'=U-(XNY)
=1{4,5,6,7,...,25} - {11,13,17}

= {4,5,6,7,8,9, 10,12,14,15,16,18,19,20,21,22,23,24, 25}

(iv) X 'UY'
X'=U-X={4,56,7,..,25} —{11,13,17,19,23}
={4,5,6,7,8,9,10,12,14,15,16,18,20,21,22,24,25}

Y'=U-Y ={4,56,7,..,25} —{4,5,6,7,..,17}

= {18,19, 20,21,22,23,24, 25}

X'UY'={4,5,6,7,8,9,10,12,14,15,16,18,20,21,22,24,25}
U{18,19,20,21,22,23,24,25)

= {4,5, 6,7,8,9,10,12,14,15,16,18,19,20,21,22,23,24, 25}

Q5I1f X = {2, 4, 6,...,20} and
Y= {4, 8,12,...,24} then find the following

Solution: (i) X —Y
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X —Y ={2,4,6,8,10,12,14,16,18,20} —{4,8,12,16,20,24}
={2,6,10,14,18}

(i) Y—-X

Y- X ={4,8,12,16,20,24} —{2,4,6,8,10,12,14,16,18,20}

={24}

Q.6 If A=N and B=W then find the value of
Solution: (i) A—B

A-B=N-W = {1, 2,3,...} —{O,l, 2,3,...}
(i) B—A

B-A=W-N={0,1,2,3,..}-{1,2,3,..}

{0}
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